AABC ©llA4] /ABH = 180° - /B
sin(180° — /B) = g olm=z

h =0 xsin(180° — /B)

- AABC = %ah = %aD sin(180° — /B)
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AABC |4 L/ABH = 180° - /B
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sin(180° - /B) = — °|B&
c
h = c¢xsin(180° — /B)

w2k AABC = %ah = %ac sin(180° — /B) ©Jt}.
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BH = 12c0s60° = 12 5 = 6

CH=8-6=2
x=1/(6V3)2+22= VI8 +4= V112 =47
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AH = he} 5},
BH=axh, CH=bxh
ol o}, BH + CH = 10°]|2&
h(a+Db) =10
@ 2 @+ ® 6 @ 8 ® 10
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(BAH = 60°, /.CAH = 45° 0|22
BH = tan60° x h, CH = tan45° X h
a=tan60° = V3 0] b =tan45° =1
L a’+ b =4
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@150«/§m @ 150 V2m ® 150m
@ 300 V3m ® 300m
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AABD 94 AB = 300m, BD = 150, AD = 150 V3 m
AADC oA AD = 150V3 m
w2tA] CD = 150 V3 m ©|t}.
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@(20—10 V3) cm @ (20-10v2) cm
® (20-5v3) cm @ (20 - V30 cm
® 5 cm

OA = OB = 20cm °]|E2=2
AH = OA - OH = 20 — 20 cos 30°

:20—20><\/7§:20—10\/§(cm)
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